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9.

Instructions for the Candidates

Write your roll number in the space provided on
the top of this page.

Answers to short answer/essay type questions are
to be given in the space provided below each question
or after the questions in the Test Booklet itself.

No Additional Sheets are to be used.

At the commencement of examination, the question
booklet will be given to you. In the first 5 minutes,
you are requested to open the booklet and
compulsorily examine it as below :

(i) To have access to the Test Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not
accept an open booklet.

(ii) Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not
in serial order or any other discrepancy should
be got replaced immediately by a correct booklet
from the invigilator within the period of 5
minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will
be given.

Read instructions given inside carefully.

One page is attached for Rough Work at the end of
the booklet before the Evaluation Sheet.

If you write your name or put any mark on any part
of the Answer Sheet, except for the space allotted for
the relevant entries, which may disclose your
identity, you will render yourself liable to
disqualification.

You have to return the Test booklet to the
invigilators at the end of the examination
compulsorily and must not carry it with you outside
the Examination Hall.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc. is prohibited.

10. There is NO negative marking.
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NOTE: This paper is of two hundred (200) marks containing four (4) sections.
Candidates are required to attempt the questions contained in these sections
according to the detailed instructions given therein.
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SECTION - 1
Qug -1

Note : This section contains five (5) questions based on the following
paragraph. Each question should be answered in about thirty (30)
words and each carries five (5) marks.
(5x5=25 marks)

e T4 T H frefafad sese W e[ Ui (5) W9 § 1 Tesh 9 &l W
T A (30) Vel H STUfAd ¥ WAH W uid (5) 3R W
(5x5=25 2ieh)

The world was poor not because it lacked material resources, technical skill or the will
to work or even because it misallocated its employed resources, it was poor because
something was radically wrong, with the way men (classical economists) thought and
conducted their economic affairs... classical theory is misleading and disastrous.

On the basis of the statement made by Keynes answer the following questions :

<fiPT T TEfTT T o PR TE S S, TR e s R
TRV oh1 TG o 41 o &l Wb HETeHT b1 TTerd 3Teeq o, sifess gfan T safay off &
AR (S Sredfage) S Hed o $iR U oY Amel i 9 YR Heifad #d 9 98
Ted: TAd o1 ... e fagia are T fasarers T

HH & IID IHed o MR R Fr=Afafad g & s T

1.  Explain the context as to why Keynes made the above statement ?

39 geu i =men & fS9H T J SUw g% fean o
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2. Why government interference is needed in the economy to curb fluctuations ?

IAR-TGE 1 b & FIL THR A1 TET HT TEAVTH T 2

3.  Does cutting down wage rate necessarily lead to increase in the level of aggregate
employment ?

I TSGU-SL H held! el © Ui JSFIR o WR H Afamia: gig et 2
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4. How savings could be a vice rather than a virtue ?

T T YohR T[0T 9 31fereh <9 & Gl © 2

5. In the light of the above does “food for work” programme in India stand justified ?

ST % uRYed H 9o ¢ R % agel WS SRisE =it § 2
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SECTION - II
Qug —1I1

Note : This section contains fifteen (15) questions each to be answered in
about thirty (30) words. Each question carries five (5) marks.

(5x15=75 marks)

e 3 ©e § g-uig (5-5) 3fh & dgg (15) U9 &1 Tdeh U9 ol I
T AE (30) TSl H TUfad €1 ek e Ui (5) ekl 1 ¥ |

(5x15=75 3i<h)

6.  Define substitution effect of a change in price on demand of one commodity.

Tug-uere i | W hiHd H GRS o FIaEITdd JoTd ohi GRET < |
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7.  How are selling costs different from production costs ?

fosba-od forg Yo ScureH-ed | st gran € 2

8.  What is marginal efficiency of Capital ?
ot o e e o 2
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9.  What is psychological law of consumption ?

YT T BTG o 2

10. Distinguish between Warranted and Natural rates of growth.

IRCE T Thideh gf§-SL h dd 3T TIE h |
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11. Define Organic Composition of capital.

STt o Sifersh Hered bt i <€)

12.  What do you mean by monetized deficit ?

Tifges =1 3179 1 TH € ?
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13. What is ‘Bank Rate’ ?
ek T NG ?

14. Identify non-tariff barriers.

TR-2R TR i T8 HL |

J—0105
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15. What is meant by demographic transition ?

SHIfehehTd HSHHUT kT T 37 § ?

16. What are the components of ‘narrow money " as used by RBI ?

SR ot 3T R Yo Feh1vl HgT o oIk 1 € ?
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17. What are non-performing bank assets ?

Sehl Bl ATF-pifHT gfeeafaen o= § 2

18. What do you mean by “disinvestment” ?

faftoe 9 219 == IHEa § 2

J—0105
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19. Describe the constituents of PQLI.
PQLI % HEehi T qu i |

20. Explain VAT.
I Y =T |
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SECTION - III
Lug —II1

Note : This section contains five (5) questions from each of the electives /

21.

22.

23.

24.

specialisations. The candidate has to choose only one elective /
specialisation and answer all the five questions from it. Each question
carries twelve (12) marks and is to be answered in about two hundred
(200) words.
(12x5=60 marks)

39 Ge ¥ g Ufess gt/ fodioear @ 9= (5) weA €1 27egefl =l had
Teh Uf ek 3ohTs / ToRIo=rdT oh1 e 39T | Uil U9 ol ST 81 Tk
9 9RE (12) 3Tehi 1 & o SHHT ST ST <1 &Y (200) vId) H 3Tafera 7
(12x5=60 37h)

Elective - 1
faerea —1

Explain the concept of auto-correlation in a mutiple regression model. How would
you detect its presence ? State its consequences on the estimated parameters.

T YA Oied H W-Heddd i STaURUT S AR $i| ! SURATT T Ia1 Hd
TG ? SATehferd el W 3H IO 1 Seoid i |

What is chow test ? Explain its uses in testing the stability of the estimated coefficients
in a multiple regression model.

A% SE N §? e UfdHT Aieet | SMehferd T[Tl i feerdr ot Sire et § 5 STAn
i AT |

What is the “identification problem” ? State the conditions under which an equation is
“over - identifed” and “just identified”.

srfriaret ot T F g2 3 ufiffadl o Seorg i fSH weh Tt rfa-sifuifaa § aen
S - 3TfRIfad T

State the assumptions of OLS model and show that OLS estimators are linear and
unbiased.

OLS Hied shi A 1 SBE e U1 Id18 Toh OLS 3TTeheleh Tohd TehR & qeT Yaaraifad
B8 ?

J—0105 14



25.

21.

22.

23.

24.

25.

Comment on the nature of “causality” in Economics and describe Granger’s test of
causality involving a set of vectors of variables Z, and X,. State the assumptions required
to make Granger’s concept operational.

SRS H HROTT’ h Yepfa o feoqoft o e Z, SR X, = % el % oI g ISR HROT] S
1 A0 Y| U= hl STTLNON hl HehldTcHb oM o Telq S H=@TT sdrg |

OR / 1@

Elective - I1
fasmea—11

“A consumer is said to be in equilibrium when the rate at which he is willing to substitute
X for Y is equal to the rate at which he can substitute X for Y”. Explain.

* ek ST ! T i STIET H d6 HHAT ST © 56 98 361 SR X §R Y Tl T
! 3591 WEAT €, 9 AW X gAY 1 TS W Ghdi g1’ e &+

Discuss V.Von Stackelberg’s model of duopoly. What are its implications ?

ot I WehardT o fgfasharansl Afed i ==l il 38 fHfedrd o &2

Define feasibility of input-output system and describe atleast three criteria for
determining feaseability.

AT~ T JoTelt skt SHereridr st ORI € qe sHeRridal o fAHRu & 8 9 H di9 AFeuel
T IUH |

Explain Hicksian model of trade cycle.

e g0 wTfad SATIR =gk o HiSe hi oAl hi |

Discuss the main features of Kaldor’s model of economic growth.

FHITER gRI Wi 3T gig o Hiea i == |

OR / 1@
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21.

22.

23.

24.

25.

21.

22.

23.

Elective - III
fasrea—111

Examine the role and relevance of “IMF” in the emerging international monetary system.

TFafed STTRST &1 Jonelt § (IMF) o 3iifac qen fiest 1 ademr i)

What are the regional trading blocks ? Comment upon the prospects of increasing
India’s trade in the context of formation of regional blocks in the developed world with
special reference to European Union.

&l AR e 1 § 2 faesfaa <o 7 &t T3, fodm wu @ e wE, & ed % dad
ARA & MR H gig o gan W feomft i)

Explain the impact on developing countries of distortions and asymmetries which have
appeared in the World Trade Organization after 1995.

T 1995 % &G fovd SATIR Wi H Yehe B At fashiaal qeil STaHfdaist o foerresie o
T YU hi AT F |

Examine the process of determination of exchange rates under flexible exchange rate
system.

T faf | < gomett o fdqra fafma <2 & fuior st afsran 1 gdeqor i

Highlight the various issues raised by advanced countries after the formation of W.T.O.

Tseg & 31 o TS o 1S foehidd <2 N 33T Y feIfvret e T Tehre Sred |
OR / 3terar

Elective - IV
fasmca—1v

Discuss the main trends in food grain production in India during the last decade.

sl <91 H 9RA § QR & 3G & 98 Ggiadi sl == i

“Stabilization of agricultural income in India depends upon stabilization of agricultural
prices”. Comment.

“ R FETT 2T kT GeeraT FT wrmdl bt giterar W AR 1 fevoit ¥

Identify the major problems that are faced by farmers in India in respect of marketing
of their produce.

IRA o TRamT 1 3T 3l & foque 9 e 59 Soenedi 1 9An T IS §, S
TEH e |
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24.

25.

21.

22.

23.

24.

25.

Analyse the impact of W.T.O. on the Indian agriculture. Will it ensure sustainable
agrarian development ?

AR i T S 3371, o GHTE I fomerur o6l | 91 98 ¥R Fu fom o1 gifaa
M ?

Discuss the scope and limitations of contract farming in India.

IR H 3% TR WAl hl TN a4 AT i == B

OR / 31an

Elective - V
fasmca—Vv

Comment on the role of planning in the changed economic scenario since 1991 in
India.

gRafaa i afiged o, vra & 1991 9 fFeH &t yftres w feoqoft )

Discuss the impact of economic reforms on the incidence of poverty in India since
1991.

T 1991 ¥ 9RA H T & ST W 3Tk GER o G41a i == i |

What do you mean by convertibility of rupee ? Is capital account convertibility
advantagous in India under the present circumstances ?

Y Y UREHTIA & ST I U § 2 S H gRiefaat | 9o deit @ gied=rean e
8?2

“Globalization is a serious threat to the survival of small scale sector in India” Evaluate.

“Ra § 7Y e & % TR % fen Sredier Tk iR waw § 1 '— godichd |

State the steps taken by the Centre and State Governments to reduce the “revenue
deficit” in the recent years.

“IroTed T Wl K R o TAIU e qe 5T TR g1 B H SN T HeH| okl Soold i |
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SECTION - IV
g ug—-1V

Note : This section consists of one essay type question of forty (40) marks to

26.

be answered in about one thousand (1000) words on any of the

following topics. This question carries 40 marks.
(40x1=40 marks)

TH WU UHk =g (40) ekl &1 o 39 © forgen s f=fafad
fawai & | Sheel Toh 9T, T Uk g9IR (1000) vTsgi | 3TUferd B
(40x1=40 37h)

Describe the present trends in inter - state inequalities. To what extent the various
recommendations of Finance Commissions have helped in reducing regional imbalances
in India.

TFAHM ST STHHAMAIS] 1 90 Y| G | &1 STHIA hl HH e | ford TR i
famfel fora o T weme fag g €2
OR / 31eran

Briefly describe the various indicators of economic development. Which one of these
you consider as the most appropriate and why ?

aTffer foshma & fafye garenl o1 it o 31 379 9 M Haifees 39gH ¢ 3R =i ©2
OR / &t

Do you agree with the view that the various employment generating programmes in
India have not shown the desired results ? Discuss.

FI1 3TY 39 gMehion ¥ eHd § foh YR § ISR o 3T 3= i ATl fafaer wriswHi 9 wrg
Fifed qRomm & U g g 7 == |
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